WZ13-150ECO WAGNER

EER T RURER

7 hos

i >
@

—

o R
HOS "Hog ™~
g e )
% o P

[C40067A

HAE « 507 - RSP e B A EABDET, 2023.05



WZ13-150ECO

A
WAGNER

POS R Ea B FEAM ik
1 2112450 |@&)J LR 1 170,000[XTA13.14KSX
2 2112451 |75 1 17,100[XTA13.14KSX
3 2112452 |F¥v T RIVINT T OfFs — LAt 4 270|M6 X 20
4 2112453 [/NVEIR LR 4 150[M8 X 20
5 2112454 | 3% 4 150 ¢ 8
6 2112350 |[7ra—& 317 1 58,200|3CCR
7 2118067 | W7 F—/rvk 1 4,400{SUS3/8F
8 2104902 |74— 1 4,300[SUS3/8
9 2112081 |ARUF¥>~ 1 270|3/8
10 | 2112455 |[E=v7 /L 1 2,200|3/8 X 60
11 | 2510016 |AAAATI/LAR « Bs 1 1,800|R3/8
12 | 2000202 |=7 —ik&EAR—A 1 4,300
13 | 2240002 |AR—ARUR 25 1 730(17 ~ 25
14 | 2112332 |ABh=7—Pex | 2 6 1 9,000
15 | 2104683 |Fvi v 1 1,000|R3/8M X R1/4F
16 | 2112456 |=/LR 1 3,000[A AARA 1/4
17 | 2103324 |[AAART)LR 1 5,000|R1/2BSBM
18 | 2112457 |[E=y7 /L 1 3,800{1/2 X 80 YSP-1315
21 | 2112086 |RUFyv 7 1 270
22 | 2115555 |JESIEt - SLIAR 1 13,400| ¢ 63-30MPa
23 | 2112458 |HEFET/LR 1 5,100{1/8 X 1/4 A%
24 | 2112459 |E=v 7 /LRL 1 4,000|YSP1310
25 | 2112151 [0 V> 1 150{14.00 X 1.78
26 | 2112038 |FL o757 1 1,300{G3/8
28 | 9904409 |INANSTTT 1 500{R1/2
29 | 2112021 |TAvT AT 4v7 1 3,100
57 | 2109500 |7Z7v 75Tk 1 270(M8
58 | 2112462 |&R> 7L —/ 1
59 | 2112461 [/MER/LL P3 4 150|M8 X 16 =71
60 | 2112368 |BhfR= A - A 1 1,700
61 2109500 |7Z7 ATk 1 270/M8

Ik -

2

T - P = AN AL (e IR /Y o/ S B

LC40067A

2023.05




A

WAGNER

WZ13-150ECO

EERT

XSHPL "€LV1X

XSry L "eIvIX

IC40068A

2023.05

T - P = AN AL (e IR /Y o/ S B

Ik -



WZ13-150ECO

A
WAGNER

POS R i dh Lig TEAM ik
1 2112121 |75 7SRV R 6 780[M6 X 60
2 | 2112163 |79 1 560
3 (2112222 [Ty v— 6 270
712112201 [NAT S5 6 5,400
8 | 2112109 |O V> 06 150/17.86 X 2.62
9 | 2112124 [PV 06 2,000
10 | 2112125 [O V7 O6 150[15.54 X 2.62
11 | 2112126 [ AR—hKJo o @3 400
12 | 2112127 [@JET—v @3 4,900
13 | 2112128 [ —L Y5 —F— 3 3,500
14 | 2112129 (O V2 o3 270(26.70 X 1.78
15 | 2112130 |[{&JE—v @3 1,500
16 | 2112131 [A AL —L 3 1,500{15 X 24 X 5
17 | 2112132 |=> R — 1 1,800
19 | 2112133 [AF v TV 1 650
20 | 2112134 |7V 1 3,400
21 | 2112135 (U7 —F— 1 9,100
22 | 2112136 |7 T 7 /r—A 1 55,200
23 | 2112021 |T AT AT 47 1 3,100
24 | 2112022 | 7T Yy —TF vk 3 650
25 | 2112023 |7 v— 3 270[8 X 13 X 0.5
26 | 2112140 |FF Vv — 3 10,600
27 | 2112141 |0 V7 3 150/4.48 X 1.78
28 | 2112142 |AYH =Yoo 3 270
29 | 2112143 | 7TV —HAR 3 9,800
30 | 2112144 |7 T Vv —HARE 3 1,300
31 | 9900322 |7 AR L 6 200[M5 X 20
32 | 2112145 (/T D /r—AJ3 73— 1 7,500
33 | 2112146 |0V 1 270[20.24 X 2.62
34 | 2112032 |AANYART TR 1 650
35 | 2112031 |(AF AR 1 400
36 | 2112149 |z ook 3 12,000
37 | 2112150 | A7~k 1 1,700
38 | 2112151 [0 U2 2 150/14.00 X 1.78
39 | 2112038 |KLov 757 2 1,300|G3/8
40 | 2112153 |[RoF~vK 1 88,100
41 | 2112154 |0 Y 1 270[17.5 X 2.00
42 | 2112041 |75 1 2,200|G1/2
62 | 2112156 [AA/L>—)L 1 2,700[40 X 50 X 7
64 1
67 | 2112157 [T 7 %7k 1 61,200
68 | 2112158 |=—K/AL~_XT7U o 1 7,600
79 | 2112161 |Tvs p— 1 270(6.5 X 28 X 4
80 | 2109310 |AAAR/LL 1 260[M5 X 30
83 | 2112162 |2 FvF Vs 1 2,700
2112900 |7V 7%k O 7,400|Pos.8,9,10
2112920 |2 —/L %k [ ) 11,700|Pos.11,12,14,15
2112940 |77 Vv F v b O 20,500|Pos.25,26,27,28
4 LC400068B
AR - 03 - M IE T ERKEETH2HELRHVET, 2023.05




WZ13-150ECO WAENER

7>a—4—/\)L7 (PN 2112350)

373y A IXEN

NG

~

by

(S
-
N/
"
NS/
Nt
N
N
=2
N

IC40062A

5
fIAk - dn - MRS T ERKER T 2ENHYET, 2023.05



WZ13-150ECO

A
WAGNER

Ik -

T - P = AN AL (e IR /Y o/ S B

6

POS b B S JEAM i3
1 2112271 |75 1 400
2 9900318 |/<F /AR Lk 1 360[M8 X 20
3 2112272 [Tk 1 150|M8
4 2112273 [FH#& /7 1 910
5 2112274 B 1 650
6 2112275 [FA#ETFk 1 16,400
7 2112276 | ATV T HAR 1 14,700
8 2112277 (AFV 7T —hk 1 5,800
9 2112278 |[EJFHIEART YT 1 2,000
10 | 2112279 |AFARS —h 1 1,300
11 | 2112295 |7 1 2,200
12 | 2112296 |7 v/S—F Ak 1 9,400
13 | 2112282 |0V 1 150
14 | 2112283 |RXo o7 w7V 1 270
15 | 2112284 |0V 1 270
16 | 2112285 |Fx=wr/3L7 1 3,500
17 | 2112286 |F w50 T 277 1 780
18 | 2112154 |0V 1 270[17.5 X 2.00
19 | 2112297 |7URLw T Assy 1 4,300
20 | 2112298 |0 VU2 1 150| ¢ 11.91 X 2.62
21 | 2112289 |7 ART ¢ 1 17,700
22 | 2112290 |7 TV 1 520
23 | 2112141 O V2 1 150[4.48 X 1.78
24 | 2112291 [>r— L 3wy 1 2,300
25 | 2112292 |m—U—EZf» 1 12,500
26 | 2112197 |0 V2 1 150{17.17 X 1.78
27 | 2112293 [»XL7—h 1 8,300
28 | 2112299 |0 VU2 1 910[¢ 11 X 1
35 | 2112294 |MH A7 40T 40 1 5,200
L.C40062A

2023.05




WZ13-150ECO

A
WAGNER

%« RKIAR—R

Ik -

T - P = AN AL (e IR /Y o/ S B

7

2
ID40002B
POS hh sh4h $og: TEAT ik
1 2116150 | /KA—A 1 10,000|G1/2 X 3m + O U2}
2 2116021 |O V7 (1) 270[P12.5 « G1/2
3 2116151 |4 /KF—A 1 5,900(G3/8 X 3m +» O Uo7 f+f
4 2116022 |O V7 (1) 270[1A - 6 X 3
5 2116320 |[ARL—F— - [ 1 4,200|G3/4F
.D40006B-3

2023.05



